55 - RFREEK

BAHE.

SHM3FE10AR19H

WRMILABNER
kR  HIT KF

HETFERLEFEGIGZIEFICONT

10RB208 (K) IZFbNI2HETZERELEFHEHLOBREIEFNS. ROXSZFESINT

BYFEFTOT, CHERCESL, T ETRRICEVEDORBAEELHYBDIEETTELESL,
(B ieEF)

B2 Y, T4 =R
8:30 | ¥+ 100m A# (3#3)
g:40 | BF 100m A# (3#3)
9:00 | wF 60mH ABC# (2#8)
9:05 | BF 60mH A#E (148) BC#R (3#8)
9:10 TFESHK (19X) ZFYTRR=LETF (TA)
9:30 | ZF 100m B#E (5#1) BCH (14) | BFESHK (15A) BFYIMR=LEKITF (13 A)
9:45 | BF 100m B# (64#8)
9:50 ZFERB (15 A)
10:00 | ZF 100m C# (13#8)
10:10 BFEMRBE (15 N)
10:30 | BF100m C# (18#8)
11:30 | LF4x100mYyL— (2%8)
11:40 | BF4x100mY L— (3#8)
[BF 100m] (#F 100m]
B # 4% TL— ME HX A#R 148 8L — EL IS
B #A 5# | bL—> =H #HE A %8 3# | 3L—v R ZEiD
B # o6#A 5L—> ¥ I&E B #A 6 fH 3L— k2 =
B # 84 3L— S EAR B #H 7% 5L—> HHE =K
C#A 168 | bL—v =t =& CH 148 [ 1 L—> HE =
C#H 26 | oL—> = - C#a 16| 1 L—> Al HIHh
[EF 60mH] (ZF Y7 bR—ILEIT]
BC # 2%8 3L— BEH H 4 2 ELIES
(BF EtEBk) (ZF EEBK]
1 3% S 1EAR 17%& xR ZEiD
[BF 4Xx100mYyL—) ([ZF 4%xXx100mYyL—)
14 | 2L—=v | (1)HLE-(2)EB- ) ¥ (4) EM 14 [TL—=y | (1)FE-(2) 8% (3) k& (4) £R







